93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA ) =
3 14 |cBobopgHa 1 49,1 210500 P 10335550 P <
5 28 |cBobogHa| 1 49,2 |[256500°P 12 619 800 P 4 .
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
3 16 |cBobogHa| 1 46,1 233500 P 10764 350 P
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
4 24 |[cBobogHa| 2 79,1 233500 P 18 469 850 £
5 31 |cBobopgHa 2 79,1 256 500 P 20289 150 P
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA )
5 32 |cBobogHa 1 47,5 233500 P 11091 2509 §
8 53 |cBo6ogHa 1 47,3 268 000 P 12 676 400 P
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1049 ]

14.0
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KOPI [NO/A.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
5 33 |cBobogHa 1 42,9 233500P 10017 150 P
1 1 6 40 |cBobogHa 1 42,9 233500P 10017 150 P
7 47 |cBobogHa 1 43,0 245 000 P 10535000 £
8 54 |cBo6ogHa 1 42,4 245000 P 10 388 000 £
KOPIN [NOA.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
1 1 4 27 |[cBobogHa| 1 46,2 233500 P 10787 700
5 34 |cBobogHa 1 46,3 233500P 10811050 P
KOPI [NOA.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
1 ) 4 75 |cBo6ogHa 1 46,7 210500 P 9830350#
7 93 |cBo6ogHa 1 46,5 222000 P 10323 000 £
KOPIN [NOA.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
4 76 |cBobogHa 1 42,7 220000 P 9394 000 £
1 9 5 82 |[cBobopgHa 1 42,8 230000 P 9844 000 P
6 88 |cBo6oaHa 1 42,9 240000 P 10 296 000 P
7 94 |[cBobopgHa 1 42,9 245000 P 10510500 £
KOPIN [NOA.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
1 2 8 101 |cBo6ogHa| 1 42,4 | 2450009 10 388 000 P
KOPI [NOA.] 9TAX | Ne KB | CTATYC |KOMH| S =05l M2 LLEHA
1 2 3 72 |cBobogHa| 1 42,7 |222000# 9479 400 £
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3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
1 60 |cBobogHa 2 63,1 176 000 P 11 105 600 £
I3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA _@ NS
3 | 114 [cBoboana| 1 46,1 |222000° 10 234 200 £ - O %
4 | 120 [ceobopwa| 1 46,1 |222000°7 10 234 200 P -
5 126 |cBobopHa 1 46,2 222000 P 10 256 400 £ ’/
6 132 |cBo6oama| 1 46,2 |222000P 10 256 400 P ]
7 138 |csobopHa| 1 46,2 |222000° 10 256 400 P -
8 144 |csobogHa| 1 45,9 222 000 P 10189 800 #
I3TAX | Ne KB| CTATYC [KOMH| S =05bL M2 LLEHA
4 122 |cBobogHa 1 47,6 210500 P 10019 800 £
5 128 |ceBobogHa| 1 47,6 210500 P 10019 800 #
3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
3 119 | npopgaHa 1 48,1 210500 P 10125050 P
4 125 |cBob6ogHa 1 48,1 210500 P 10125 050#
5 131 |cBobogHa 1 47,8 210500 P 10 061 900 £
6 137 |cBobogHa 1 48,0 210500 P 10104 000 £
7 143 (csobopHa 1 48,2 210500 P 10146 100
=
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA g
2 | 112 |ceobogma| 2 68,2 |188500° 12 855 700 P
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
3 117 |csBobogHa 3 96,5 177 000 P 17 080 500 £




93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
4 18 |cBobogHa 1 47,9 210500 P 10 082 950 £
5 24 |cBobopgHa 1 47,9 210500 P 10082 950 £
6 30 [cBobogHa 1 47,9 210500 P 10082 950 £
7 36 |cBobogHa 1 48,0 210500 P 10104 000 £
‘T]WT = 3:; 156 [[I]
G [
93TAX | Ne KB| CTATYC |[KOMH| S =05l M2 LLEHA — <
5 28 |[cBobogHa| 1 42,8 | 245000P 10486 000 P o ras |
Em
i
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA §
2 7 |ceo6opnal| 2 67,8 |187000¢ 12 678 600 P \
3 13 |cBobogHa 2 67,9 199 000 £ 13512 100# -
5 25 |[cBobogHa| 2 68,9 210500 P 14 503 450 P
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
3 62 |[cBobogHa| 1 42,4 222 000 P 9412 800 P
93TAX | Ne KB| CTATYC |[KOMH| S =05l M2 LLEHA
3 66 |[cBobogHa| 1 41,3 233500 P 9643550 P
93TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
5 75 |[cBobogHa| 1 46,2 222500 P 10279 500 P
6 82 ([cBobogHa| 1 46,2 222500 P 10279500 ¢
7 89 |cBo6ogHa 1 46,5 222000 P 10323 000 £
8 96 |cBobogHa 1 46,1 222000 P 10 234 200 £




93TAX | Ne KB| CTATYC |[KOMH| S =05l M2 LLEHA
3 67 |[cBobogHa| 1 48,6 210500 P 10230300°
4 74 |cBobopgHa 1 49,0 222500 P 10902 500 £
5 81 ([cBobogHa| 1 48,9 222500 P 10880 250 £
6 88 |[csobopgHa| 1 49,0 |233500°9 11 441500 P »
7 95 |[ceo6ogna| 1 49,0 |245000°9 12 005 000 £ |
‘o)
I3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA 1
8 102 |cBobopHa| 1 48,7 | 2565009 12491 550P "
.
I3TAX | Ne KB| CTATYC [KOMH| S =05bL M2 LLEHA
1 6 |cBobogHa 3 89,1 170 000 £ 15 147 000 £
2 9 |cBo6ogHa 3 89,4 190 000 £ 16 986 000 £
3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
1 4 |cBobogHa 3 89,4 190 000 £ 16 986 000 £
2 7 |cBobogHa 3 89,2 210500 P 18 776 600 £
3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA '
0 3a |cBobogHa 2 73,2 260 000 P 19 032 000 £ - e i
= N
T
I3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
1 5 |cBobogHa 2 71,9 270000 P 19413 000 £
2 8 |cBo6ogHa 2 71,9 280 000 P 20132 000 P




3TAX | Ne KB| CTATYC [KOMH| S =05bL M2 LLEHA
1 5a |cBobopgHa 2 69,1 270000 P 18 657 000 £
2 8a |cBo6ogHa 2 69,1 280 000 P 19 348 000 £
3TAX | Ne KB| CTATYC [KOMH| S =05l M2 LLEHA
1 56 |cBo6oaHa 3 94,7 270000 P 25569 000 P




	Завершающий вариант

